= AH O
N & O A& Al A
201MEE 204 B3I H SOl &HI I ~ oI &
A =oIE oDt
Hi: Lo=2X=A
e Logx s (e
- — MEE =
2N -3 - c2(3H) - NEME - HES 0] AFCH Ol AF o8 Hns
S QIZON Q! It 335,521,324 297,721,112 37,800,212
= 253,304,327
D 2,995,393
=2 23,355,369
= 55,866,235
CE-PAES 260,279,609 230,851,610 29,427,999
= 213,064,890
J| 155,393
2 10,120,502
== 36,938,824
LoEx =& 260,279,609 230,763,610 29,515,999
= 213,064,890
pl 155,393
= 10,120,502
< 36,938,824
LOIESHEEIN S S2HAA 494,033 278,000 216,033
= 145,000
Dl 155,393
== 193,640
307 GI2t0IH 494,033 278,000 216,033
= 145,000
J| 155,393
< 193,640
10 AFSIEXEX 494,033 278,000 216,033
OLoBSHEEI IS 229 290,000
= 145,000
== 145,000
Oolsijugame s X 40,000
OLBsHMII|I& SAMAL HRHA 8,640
Ostiushce ME2&EH =4 155,393
J| 155,393
IxLgH=3 191,240,554 172,402,534 18,838,020
= 182,251,524
< 8,989,030
308 AXIHAMSOIH 191,240,554 172,402,534 18,838,020
= 182,251,524
< 8,989,030
01 AXSHMBAEEXS 191,240,554 172,402,534 18,838,020
OPIEL=1u= 191,240,554
= 182,251,524
== 8,989,030
24 LXelAlg K& 11,623,229 11,154,941 468,288
= 8,929,930
< 2,693,299
203 LRI 7,600 8,000 A400
03 AZ=XHAR2FZXIH| 7,600 8,000 A400




S ECIE <3\l
H: Lo=XEX
ool coi=x 5 (Etel: &8
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
OLQITfQl HOAYRFR 2,850
OLQIF OOl THEYFEX 4,750
307 QI2H0IH 19,200 19,200 0
= 9,600
= 9,600
10 AHSI=XEE 19,200 19,200 0
OLolgXtel Nged 29 19,200
= 9,600
= 9,600
308 XHXIEHHISOIH 11,596,429 11,127,741 468,688
= 8,920,330
= 2,676,099
01 RAXESHBALES 11,596,429 11,127,741 468,688
OLol X 2IAY X2 11,506,429
= 8,920,330
= 2,676,099
P05 22 U LOHMAXE 176,500 208,400 A31,900
307 BI2t0IA 151,500 183,500 32,000
10 ASISREE 151,500 183,500 A32,000
OUEt-0Isl Toists] AR 29 80,000
OFRY ZRIynM 2% 28,000
OLQAXNER A4S 13,000
OAH &0l 15,500
OL XX I 10,000
OLXAZA LHEA 5,000
402 RI2HRHE0IH 25,000 0 25,000
01 QIRH=R % 25,000 0 25,000
OUthst=ols] Toiatsl xtzFne 25,000
SAHLQ X 317,850 327,240 £9,390
= 303,660
= 14,190
308 XHXlEHHISOIH 317,850 327,240 £9,390
= 303,660
= 14,190
01 RXESHBARES 317,850 327,240 £9,390
OSHQ SZANER0 29 X8 303,660
= 303,660
OSAHLo BSMER 29 X
4,300, 00021 * 117K £ %30% 14,190
COSEAHIA ALY 7,622,352 5,227,291 2,395,061
= 6, 178,407
= 1,443,945
308 XiXlEHHISOIH 7,622,352 5,227,291 2,395,061




SH: oI Olel D
M Lol=X S
ool o=y EX (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
= 5,178,407
= 1,443,945
01 RXNSHBABES 7,622,352 5,227,291 2,395,061
OLoIEE JI=AHA 2,920,614
2 2,405,211
= 515,403
OLoES SatAula 4,581,738
2 3,773,196
= 808,542
OLQISE JIZMHHA 2 X2 (X))
600,000, 00021 x20% 120,000
A2y 29y X 4,728,580 4,818,400 89,820
308 XHXISHH SO & 3,051,580 3,084,400 £32,820
01 RXNSHBABES 3,051,580 3,084,400 A32,820
OLQNET A 10,0002 5,660 *30% 16,980
OLWAIH A2 B3 50,0009 +5,6607H A +15% 42,450
OLQOIIZRIY N7 23
200, 00021 +8007H 2 *30% 48,000
O2HI2Y HF X
2,000, 00021 %3174 2 x30% 18,600
OZ2Y 283 D20y 23
100,0002! %5, 6607H £ *30% 169,800
OArY 4025 X
2,000, 00024 *5507H 2 +30% 330,000
OARY S 4222 L SYNV(£I}) 104,500
OFRrY ZRIUB2N 29
26,500, 00021 %252 *30% 198,750
OF2Y 29 X 2,122,500
403 RHXISHH SR =0 1,677,000 1,734,000 A57,000
01 RXSHAZSE 1,677,000 1,734,000 57,000
OL2ARY 222y
2,000,00024 *1507H 2 +30% 90,000
OF2Y S UE L NE2Y 1,587,000
220l 2R IAANY 642,450 604,500 37,950
308 XHXISHH SO & 642,450 604,500 37,950
01 RXSHBABES 642,450 604,500 37,950
OMASTIHEO! Al AR
3,002 %2, 0242 x2752 x25% 417,450
ORRIRAY 29
3,0002! +1, 2002 x2502 *25% 225,000
Co=XR 2Y N 748,808 970,000 ~221,192
308 KHXIEHHI SO & 708,808 670,000 38,808
01 RXSHBABES 708,808 670,000 38,808
OLo=XE 2% X 670,000




SN
X XH .
S Tt

el

}\_I X~ xH C|—O|(§I j;”) }\.“bl}\I,O-I A2 AFOH I|_‘|LI;=|_|‘:_ HleDF
OLosX2 SAK MRS
194,040, 000 & *20% 38,808
403 X SHMSAH=01H 40,000 300,000 A 260,000
01 MXIESHMA=2E R 40,000 300,000 A260,000
Ookeo=Xa JIsed s 40,000
Hotcol=X STALY XI& 145,100 59,100 86,000
308 XXl XS0l 105,100 59,100 46,000
01 XN MBLEXS 105, 100 59,100 46,000
OXEE oAz B2
12,0002 10,0002 *30% 36,000
Okol nEotddE B 77,000, 000& *30% 23,100
O0lsYehxt 2% X&
30,000,000 *6IH 2 *20% 36,000
O&% XN¥ol 23 XN 10,000
403 KX M SK=01H 40,000 0 40,000
01 AXEMA=2E = 40,000 0 40,000
O0ls®eixte & Hdl 28 XN&
40,000,000 & *5IH 2 *20% 40,000
LOIERAIE JIsEZAY 15,576,553 9,181,430 6,395,123
= 10,384,369
& 5,192,184
403 X SHMSAH=01H 15,576,553 9,181,430 6,395, 123
= 10,384,369
= 5,192,184
01 MXIESHMA=2E R 15,576,553 9,181,430 6,395,123
O L=XAE JIsE2ZAY 15,576,553
= 10,384,369
& 5,192,184
ZEAFIMLAS 5,372,000 7,026,000 A 1,654,000
= 4,872,000
& 500,000
403 X SHMSAH=201H 5,372,000 6,969,000 A 1,597,000
= 4,872,000
& 500,000
01 RXSHMA2E = 5,372,000 6,969,000 A 1,597,000
OB HEIMNLAE 5,372,000
= 4,872,000
= 500,000
COIMEN(THONAIE BAX MM K& 276,352 230,640 45,712
308 XXX S0l 276,352 230,640 45,712
01 IXNHMBLEEXS 276,352 230,640 45,712
OLClMEAld SAL HRIHA
1,274,900, 000 *20% 254,980




S oI EOfOI T
M LoI=N S
Sl LoI=R S (e @8
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
OTHIH-QI=XIAIE BAR HRHH
106,860, 0002 *20% 21,372
COIS XA X 20,744,468 18,206,734 2,537,734
2 10,120,502
= 10,623,966
307 212+0IH 92,000 30,000 62,000
05 QI2t9IEtz 60,000 0 60,000
OMNMBOIS ANMEY S 60,000
10 AEI=XEZ 32,000 30,000 2,000
OLQIME(TINAIL SAR B40S 5,000
OLQIMEAIA 024 L BAX &0tY (3l 13,500
OMIIZAl AHER S0t (3l 3,500
308 X+XIEHHI SOl & 20,652,468 18,176,734 2,475,734
= 10,120,502
= 10,531,966
01 MXSHZAHEES 20,652,468 8,176,734 2,475,734
OwQIAE X2 15,078,628
= 10,120,502
= 4,958,126
OMIN=FIQARE X2 5,528,840
O STAHIA NBME 29 X 45,000
Y=ARY 2 570,780 0 570,780
308 X+XI IS Ol & 98,280 0 98,280
01 MASHHBHSES 98,280 0 98,280
OB=ARY P2ARAY 29
3, 0002 +40Z #6374 2 #5221 %25% 98,280
403 XX SIS K20 & 472,500 0 472,500
01 RXISAXESE 472,500 0 472,500
O#=ARY ZHE 50,000,000 *63IH A +15% 472,500
D04l 2N 75,177,915 66,801,212 8,376,703
= 40,239,437
| 2,840,000
= 13,234,867
= 18,863,611
BOHQ XS 55,013,795 49,634,366 5,379,429
=2 28,587,877
| 2,840,000
s 12,292,857
= 11,293,061
BOH 4+ X 5,844,372 20, 157, 163 £14,312,791
= 5,178,558
= 665,814
308 X+XIEHHI SO & 5,844,372 20, 157,163 A14,312,791
= 5,178,558




S QI FOfOID:
X{ ZH - XFOHOl EXlZXI
(== fe=) — -/ (=T

chel: mOjel 2NEA R
SN FB - S2A(3) - MEAY - BES 0] & 08 e HRE2

= 665,814

01 MXSHBLEEXZ 5,844,372 20,157,163 214,312,791
(OFSV E=PNF! 5,844,372
= 5,178,558
L= 665,814

ZOoHel o=z Hl K& 1,683,803 963,270 720,533
= 1,566,329
& 117,474

308 XX HHSO0IA 1,683,803 963,270 720,533
= 1,566,329
= 117,474

01 AXNHMBLAEEXS 1,683,803 963,270 720,533
Q&0 el =2l 1,683,803
= 1,566,329
= 117,474

i XArHdw=Hl XA 67,824 78,012 210,188
= 63,093
& 4,731

308 XX HHSO0IA 67,824 78,012 210,188
= 63,093
& 4,731

01 IXNHMBLEEXS 67,824 78,012 210,188
O IPIEITET] 67,824
= 63,093
= 4,731

Ol SEXCH XA 12,050 7,275 4,775
= 12,050

308 MHXIHHMSOIA 12,050 7,275 4,775
= 12,050

01 XN MBLEES 12,050 7,275 4,775
OB S =R Y| 12,050
= 12,050

ZOHeIMEAL DISE2Z XA 4,157,244 4,068,984 88,260
= 2,738,163
= 1,419,081

403 X HMSAH=01H 4,157,244 4,068,984 88,260
= 2,738,163
= 1,419,081

01 NXIESHMA=2E xR 4,157,244 4,068,984 88,260
ONOjIMB AL IS 4,107,244
= 2,738,163
& 1,369,081
OB OO MEAIE JIS22 (%) 50,000

SHEZ0HC! FEONZAIY X 254,410 347,700 293,290
= 195,700
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L H0jY =B
el

X ZH
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L=gelPS gyl Relini;

e =Xsd

_ _ _ Muo
SA - SR(E) - HRAY - BES Abou i HIRE
< 58,710
403 XHXISHAIS XH2 0/ H 254,410 347,700 £93,290
=2 195,700
= 58,710
01 XXSHHX22E 254,410 347,700 93,290
OSHEZ0HOl Zex 254,410
= 195,700
= 58,710
ZOHQARNREH2Y () 392,759 384,949 7,810
= 44,250
< 348,509
307 12+0I 392,759 384,949 7,810
= 44,250
= 348,509
IREENEES 392,759 384,949 7,810
OB+ SANHY 117, 150
2 17,250
= 99,900
OBLZNAMREHESY 182,799
= 27,000
= 155,799
OF IR A A 2 41,000
OMSSHE 15774 S R 3t 5,000
OBLXIEs 2SN 46,810
ZOHOI B O Al S BT UI(HT) 155,804 155,804 0
= 36,750
= 119,054
307 212H0I 155,804 155,804 0
= 36,750
= 119,054
10 ABI= X2 X 155,804 155,804 0
OBLZNABIN LN AL S Y 100,804
= 18,000
= 82,804
OBOANMLICUSIHRY 55,000
2 18,750
= 36,250
ArZol QI ALY 83,000 88,000 0
307 12+0I 83,000 88,000 0
REEREES 83,000 83,000 0
OAZSl QI At 83,000
ZOHQISHES L HAK S 305,000 335,000 30,000
307 I2H0| & 305,000 335,000 30,000
10 ALSl= X2 X 305,000 335,000 30,000




Rk
L H0jY =B
el

X ZH
(=]

L=gelPS gyl Relini;

Zojel =X

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
OZOHQI S THEHAH 70,000
OZ 0§ QIAIJH & A 235,000
Zoe EE2EAMY 2 62,000 62,000 0
= 31,000
& 31,000
307 QI2t0IA 62,000 62,000 0
= 31,000
& 31,000
05 2IIRAE =S 62,000 62,000 0
OZe SE2EAE 2 62,000
&2 31,000
= 31,000
O MEANL 2 17,089,519 17,089,519 0
= 12,180,857
& 4,908,662
308 MXIHHSOIH 17,089,519 17,089,519 0
= 12,180,857
& 4,908,662
01 XML EXS 17,089,519 17,089,519 0
O dEAE =2Y 17,089,519
= 12,180,857
S 4,908,662
HOHel MHEotd X3 2,150,568 1,809,990 340,578
Il 1,714,940
< 435,628
308 MXIHHSOIH 2,150,568 1,809,990 340,578
Il 1,714,940
& 435,628
01 MXEMISELS 2,150,568 1,809,990 340,578
OFM+=E FItX& 622,080
Il 483,840
= 138,240
ORRHM=5 K& 604,800
Il 470,400
= 134,400
OZMNAF HO0HQ =HHl X& 378,000
Jl 294,000
T 84,000
OS3&M JtrE sl K& 438,588
Il 364,560
& 74,028
OFAZMOls ASEHI2 == & HEXS
bl K& 12,000
Il 12,000
OZ=FRFZM 2=Hl K& 20,700
Pl 20,700




S QI E 0§l Dt
Ha: Zojol =2XNSH
Sl Zojol =XSA

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
ODIFSHOHR AZHE K& 36,000
pJ 33,600
= 2,400
O A2 s 23 38,400
pJ 35,840
[ 2,560
ZEZRHARE UL X 129,522 116,928 12,594
308 XXl EXHI S0l 129,522 116,928 12,594
01 AXESHBMEEZ 129,522 116,928 12,594
OEzHe BE5X4+Y 129,522
ZOHQIXI R ME 2 (XH) 1,167,946 1,323,946 A 156,000
pJ 1,087,946
= 80,000
308 XXM SOIA 1,087,946 1,156,946 269,000
pJ 1,087,946
01 AXSHBAEERZ 1,087,946 1,156,946 269,000
OANZ 3SME 29 451,350
pJ 451,350
OANZ ZUHAREHEH 2 492,596
pJ 492,596
OANT ZOHeIEHIAIL XJEEH 23 144,000
pJ 144,000
403 XHXIESHHIS K20l & 80,000 167,000 87,000
01 XS E 80,000 167,000 87,000
OANZZoe XM Ald JIsES 80,000
ZHOH QI THE AL X & 124,000 144,000 20,000
pJ 37,114
[ 86,886
308 XX HHSO0IA 124,000 144,000 220,000
pJ 37,114
[ 86,886
01 UHXSHBAEES 124,000 144,000 20,000
OAIZ =04 QI TH & AL 124,000
pJ 37,114
[ 86,886
S0tel AT EHEH 29 50,000 50,000 0
307 QI2H0IA 50,000 50,000 0
10 AlZI=SXEE 50,000 50,000 0
O=s0to Mg adH2g 50,000
Fojel KA NS 50,000 50,000 0
307 QIZHOIA 50,000 50,000 0
10 At3IZ2XEx 50,000 50,000 0




S QI FOfOID:
X{ ZH - XFOHOl EXlZXI
(== fe=) — -/ (=T

Sl Zojol =XSA (e @8
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ol AF o8 HwsZ
OZE+3n8a 2 50,000
VR ENEEE S TIONED 69,000 69,000 0
308 XHXIGHHIS Ol 69,000 69,000 0
01 MXSHHZAHSES 69,000 69,000 0
OFAZOfO Y £S5 &X 24,000
OAZLZO Ol JHE JFAQIFD| &3] 45,000
0N O & 251 X & AR 111,210 91,210 20,000
308 XHXI GRS Ol & 111,210 91,210 20,000
01 RXSHBASES 111,210 91,210 20,000
OO0 ASPSKIY 111,210
ROHQI DAY 50,000 50,000 0
= 40,000
= 10,000
307 212+0IH 50,000 50,000 0
= 40,000
= 10,000
10 ABIZXEE 50,000 50,000 0
OO & Z O RE AL 50,000
=2 40,000
= 0,000
DOHQISTIAIL AHIUA0EE XIRAY 153,576 165,240 A11,664
= 136,080
= 17,496
308 X+XIEHHI SOl & 153,576 165,240 A11,664
= 136,080
= 17,496
01 MXSHZHSES 153,576 165,240 A11,664
OBOHQASTIAIL AYIAL08E K 153,576
=2 136,080
= 7,496
ZOHOl 202 S 80,000 100,000 20,000
307 212+0IH 80,000 100,000 20,000
NRCEPEES 80,000 100,000 20,000
OOjQl SetAMCEE 2 70,000
OAZLE OOl SRiAMC T 2o 10,000
=xR0jeI 18,058,384 0 18,058,384
=2 16,001,100
= 2,057,284
308 X+XI IS 0 & 18,058,384 0 18,058,384
=2 16,001,100
= 2,057,284
01 MXSHAZHEES 18,058,384 0 18,058,384




S QIR0 It

X{ ZH -
o= -

oiel SXsd

SHol: BOj =X (ctol: @
_ _ MNuE o
A -3 -H2A(SH) - HEAMY - BES (il & OH 'oﬂ/'\_FOH Hlws2

P EETEERE 18,058,384
= 16,001, 100
= 2,057,284

HHQIEHT A/SHESY 50,000 50,000 0

307 ©I2t0|& 50,000 50,000 0

10 AlEI= X2 X 50,000 50,000 0
O HOHQI2ET A/SHESY 50,000

HHQARIIQARE 2 2,656,804 0 2,656,804
= 2,656,804

308 KXl EHH SOl & 2,656,804 0 2,656,804
= 2,656,804

01 HXSHBARZES 2,656,804 0 2,656,804
OFOHQ HIQULRYE 2 2,656,804
= 2,656,804

OHQI= X & 20, 164, 120 17,166,846 2,997,274
= 11,651,560
= 942,010
= 7,570,550

OHQIMAE BALSY 134,220 164,786 ~30,566
= 53,688
= 80,532

307 9I2H0|& 134,220 106,300 27,920
= 53,668
= 80,532

10 AL3I= X2 X 134,220 106,300 27,920
OROHQAMAE BIIALE 2Y 134,220
= 53,688
< 80,532

ool EEI|P X 505,668 111,007 484,571
= 307,366
= 288,302

307 ©I2t0|& 500,000 0 500,000
= 250,000
= 250,000

10 AlSI= X2 X 500,000 0 500,000
OFOHQl BEI|IT ARl Al AL 500,000
= 250,000
[ 250,000

308 XiXIEHHISOIH 95,668 111,097 A 15,429
= 57,366
= 38,302

01 IXSHBAREES 95,668 111,097 A 15,429
ORojel 2x0|7 23 X 61,668
= 57,366
= 4,302

_11_




S QI FOfOID:
X{ ZH - XFOHOl EIlZXI
(== fe=) — -/ (=T

ool Hojel =X EHe (eel: &
_ _ _ Muo
RA B SA(BH) - NRAY - B 01 e HRE2

O#=s =X AHIA X 34,000

ESTOHANESE(IVXNBEE 2 174,000 164,000 10,000
=2 120,000
= 54,000

308 XHXIEHH SOl 174,000 164,000 10,000
2 120,000
= 54,000

01 IXESHBLEES 174,000 164,000 10,000
OZSZ0IQ NYMBXAHEH 2 174,000
= 120,000
= 54,000

HOHOI MR =AY 2 6,866,468 7,674,550 808,082
= 5,570,776
= 1,295,602

307 12+0I A 45,000 117,610 AT72,610
2 31,500
= 13,500

05 BI2teIEt3 45,000 117,610 AT72,610
OSSO0 2S2x0 DSH N 45,000
2 31,500
= 13,500

308 XXIEHH SO 6,821,468 7,556,940 AT35,472
=2 5,539,276
= 1,082,192

01 KXISHBAEES 6,821,468 7,556,940 AT735,472
OEZZ0Q BS2xX 6,251,468
2 5,539,276
= 712,192
OS0! BSEX X (XH) 300,000
OFOOl JFIAE 0| BE X2 270,000

ZOHQ! LR2IAY X 2,185,298 1,493,278 692,020
2 1,692,845
= 492,453

307 12+0| A 385,000 0 385,000
=2 308,000
< 77,000

10 ABI=XEE 385,000 0 385,000
OZZZ AI2IZOHQ! OIOHAN TH2A A 385,000
= 308,000
= 77,000

308 XX EHH SO 1,800,298 1,493,278 307,020
= 1,384,845
= 415,453

01 IXESHBLEES 1,800,298 1,493,278 307,020
OFOel =X LXtel X2 435,792




S QI E 0§l Dt
ol Zojel =2XNSD

ool Hojel =X EHe (=E L
. _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2

= 335,225
= 100,567
OFoHO! #H=20| 1,364,506
=2 1,049,620
= 314,886

ZOHQI M ATHE A IS X 2,123,981 91,795 2,082,186
2 1,389,321
= 734,660

403 XX SHSKHZ0IH 2,123,981 91,795 2,032,186
2 1,389,321
= 734,660

01 AXSHARZE 2,123,981 91,795 2,032,186
OFMHOINATHEAIE JIs2Y 2,083,981
=2 1,389,321
= 694,660
OFNATATEAIL JsS2 () 40,000

ZOHOI=R B 2 3,454,580 3,312,870 141,710
= 837,260
= 2,617,320

307 12+0I A 3,454,580 3,312,870 141,710
= 837,260
3 2,617,320

05 SI2t9ieta 3,444,580 3,292,870 151,710
OFBNWU=XZ 2Y (K2, 25) 1,857,870
== 632,510
< 1,225,360
OAAFHI=X2 2 750,000
ONEZHI=XZ 222 140,000
OFNU=X 2 SAR XL 151,710
OFMNL FAESAL 2 160,000
= 40,000
= 120,000
OXHe MII=SXME 2 210,000
£ 116,750
= 93,250
OFe SSHEINE 29 70,000
£ 33,000
= 32,000
Hojor=x SeXSA N 56,000
OF0je Aems 2 24,000
OFWH=MEDSAY 2 25,000

10 ABI= xR E 10,000 20,000 10,000
OFOI=ST2 SAK 240K 10,000
= 10,000

JofoIHSY 72,692 72,692 0
= 19,200
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SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
< 53,492
307 ©12+0I ™ 72,692 72,692 0
= 19,200
< 53,492
10 ABI=XEE 72,692 72,692 0
OFMeANSH 2% 72,692
= 19,200
= 53,492
OO SHBAL 29 200,250 214,650 A 14,400
= 57,600
= 142,650
307 ©12+0I ™ 200,250 200,250 0
£ 57,600
3 142,650
10 ABI=XEE 200,250 200,250 0
OXOHQICIZHEAN L 2 200,250
= 57,600
= 142,650
SO AL BAK MR 54,000 179,640 A 125,640
307 ©I2H0I A 54,000 179,640 A 125,640
10 AHSIEXEE 54,000 57,600 3,600
OFOHQITHEAIE SAR MMM 54,000
SN MATBAIL 2 303,491 230,000 73,491
308 XiXlEHHISOIH 303,491 230,000 73,491
01 RXESHBARES 303,491 230,000 73,491
OF OO HATHEAIL 29 278,716
OFOHO ATHEAIL SAK XM A 19,207
OXNLMEANE SSHQ 251 42 5,568
ZOHOIAI ST AR X 2 e 441,722 428,208 13,514
308 XHXIEHHISOIH 441,722 428,208 13,514
01 RXSHBARES 441,722 428,208 13,514
OANZZOHOI0IZAIE SAK M RN &
500,400, 0002 +20% 100,080
ONZEOHIMEAIE SARHRHA
1,708,210, 000%20% 341,642
EUTHQANYMBLY 2 216,500 230,000 A 13,500
CUAEIEIES! 216,500 230,000 A 13,500
10 AHBI=XEE 216,500 230,000 A 13,500
OY S0 HEASHE 2 216,500
ZOHOIHBAIL DS 500,000 799,000 299,000
= 27,950
= 472,050
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S QI FOfOID:
X{ ZH - XFOHOl EXlZXI
(== fe=) — -/ (=T

Rl ZOHISEX & (etel: =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
402 QI2HRHE01M 400,000 465,000 265,000
= 27,950
= 372,050
01 BIPE2EX 400,000 465,000 265,000
OZMEXZ JISEZ (MR, E2) 400,000
2 27,950
= 372,050
403 XXM SA=201H 100,000 334,000 A 234,000
01 AXESMIA2E = 100,000 334,000 A 234,000
oZoel=xa o= X 100,000
ZOH0ts MEX= 2,841,250 2,000,280 840,970
= 2,517,564
< 323,686
308 AXIHHSOIH 2,841,250 2,000,280 840,970
= 2,517,564
< 323,686
01 MXEMIHELS 2,841,250 2,000,280 840,970
OZ0iols MExz 2,501,866
= 2,216,844
= 285,022
OAMEBUHMHREZ2XUES AL EXE A 339,384
= 300,720
& 38,664
HHE2EZHI(=AF0 D) 63,800 68,290 N4,490
Jl=2Z4l 63,800 68,290 A4,490
Jl23HI (=l ZoHel ) 63,800 68,290 A4,490
201 LetEE] 30,400 32,300 A 1,900
01 AtR2teld] 30,400 32,300 A 1,900
O AP RFA 30,400
202 O4Hl 29,200 31,790 A2,590
01 WY 29,200 31,790 A2,590
O EMAHRZ=A 29,200
203 ¥R =& 4,200 4,200 0
04 RA2SERFLH| 4,200 4,200 0
O QI &0 el ot 4,200

_15_




